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. Use the zeronrodﬁct prbperhj t& solve
the equation. : o -
19. 0+ D+ 1) =0 20.(y+32=0 - 21.(¢+8)(—-6=0
22. (w— 17 =0 22.(b-9)b+8)=0 24 (d+7)2—‘
25.(y—2(y+1)=0 26.(z+2Qr+3)=0 27 (v—7)(v— )
28, (r 4 -%)(z ~4=0 29.4c+97=0 30 (u - 3)(u - 3) _=‘Q:
3.(y-567=0  32(a—40)a +12)=0 3. b — 5P =

" Solve the equation. - B
34. (4x — 8)(Tx + 21) = 0 35. (2d + 8)(3d + 12) = o
36. 5(3m + 9)(5m — 15} =0 37. 8(n + 27)(6n — 9) =
38. (66— 18)2b +2)(2b+2) =0 39, (4y — 5)(2y — 6)3y.— 4)
40. (x + 44)(B3x — 22 =0 a1 (5x = 9.5)*3x + 6.3) = 0

42. (%x + 2)(%;5 + 6)(—;@ 1) 0 4. ('m - '—.-)(Sn + 130)(3Tz - ‘—%—)=0 |

... Factor the trinomial.

S15.x7 +8x—9 16. 17 — 107 +-21 17. 5° + 5b — 24

18. w2 + 13w + 36 19. yz — 3y — 18 20. ¢* + l4c + 40
21w = Tm = 30 22.32 + 12n + n? 23. 44 — 155 + 57

24, 2 + 657 + 1000 25, 12 — 45x + 450 26. d2 ~ 33d — 280

SL et . : ... Solve the equation by factoring.
27.x* +Tx+10=0 28. >+ 5¢—14=0 29. x> —9x = —14

30, x7 + 320 = —220 3.1+ 16x=—-15 = 32.x%+3x=54
33, %7+ 8x =65 34, ~x + x> =56 35. x? — 20x = =51
36.x — 5x =84 37.x°+3x—31=-3 38 x’—2x—19=—4

- 39.x7~x—8=82 40. x> + 42 = 13 41. % — 9x + 18 =2



